
IMPORTANT CONSUMER SAFETY INFORMATION
WARNING: RIDING A BIKE IS DANGEROUS. NOT PROPERLY MAINTAINING OR 

INSPECTING YOUR BIKE AND ITS COMPONENTS IS EVEN MORE DANGEROUS. IT IS 
ALSO DANGEROUS TO NOT READ AND FOLLOW THESE INSTRUCTIONS.

1. DO NOT PERFORM ANY MODIFICATIONS OR ADJUSTMENTS THAT ARE NOT OUTLINED IN THIS
MANUAL.
2. INSPECT YOUR CHAIN GUIDE BEFORE EVERY RIDE. INSPECT AREAS FOR ANY SIGNS OF
EXCESSIVE RUBBING, BENDING, CRACKING OR OTHER DAMAGE.  IF YOU NOTICE ANYTHING 
ABNORMAL, DO NOT RIDE IT. RETURN IT TO YOUR DEALER OR CONTACT MRP FOR A COMPLETE 
INSPECTION AND NECESSARY REPAIR.
3. MRP RECOMMENDS THAT YOU WEAR PROPER SAFETY EQUIPMENT EVERY TIME YOU RIDE,
INCLUDING APPROVED BICYCLE HELMET. NEVER RIDE AT NIGHT WITHOUT LIGHTS.
4. ALWAYS USE GENUINE MRP PARTS. USE OF AFTERMARKET REPLACEMENT PARTS AND
UPGRADES VOIDS THE WARRANTY AND COULD CAUSE STRUCTURAL FAILURE.

MRP HIGHLY RECOMMENDS THAT YOU HAVE YOUR NEW GUIDE INSTALLED BY A PROFESSIONAL 
MECHANIC AT YOUR FAVORITE LOCAL BIKE SHOP. IF YOU HAVE ANY DOUBTS ABOUT HOW TO 

INSTALL YOUR GUIDE, TAKE IT TO A BIKE SHOP. YOU’LL BE GLAD YOU DID.

COMPATIBILITY
The S3/E-Mount 1x guide 
includes six 1mm washers 
and two .5mm washers 
which allow the guide to 
accommodate a wide range 
of chainlines. However, used 
in a single-ring application, 
two-ring “double” cranks 
may produce a less-than-
ideal wide chainline. Wide 
chainlines can cause 
premature chain wear 
and may result in contact 
(rubbing) between the chain 
and the guide while in the 
largest cogs of the cassette. 
There are several “offset” 
chainrings on the market that 
can alleviate this.

1

USER MANUAL
S3/E-MOUNT MODEL

消費者向けの安全に対する大切な情報
警告：自転車に乗ることには危険がつきまといます。

それが正しくお手入れ、点検されていない自転車や部品であればなおさらです。こ
の説明書に目を通されないこともまた危険な行為となります。

1.この説明書で表記されていない改造や調整は行わないで下さい。

2. 自転車に乗る前には毎回チェンガイドの点検を行って下さい。その際過度なすり減りや変形、
ヒビなどの兆候がないか見て下さい。何かしら異常を見つけた際は乗車を止め、完璧な点検と修
理の必要性を確認するため購入店へ持ち込むかMRPに問い合わせて下さい。

3.乗車時は常に頭にあったヘルメットなどの適切な安全用装備を着用されることを推奨します。
無灯火での夜間走行は決して行わないで下さい。

4. 必ずMRPの純正部品をお使いください。2次市場の交換部品の使用、アップグレードは保証が無
効になり、構造上の破損を招く恐れがあります。

���の取り付けは最寄りのショップの熟練したメカニックにお願いして下さい。
自分で取り付ける場合も、装着後ショップにて見てもらうことをお勧めします。

互換性
S3/Eマウントの1xガイドには幅
広いチェンラインに対応するよ
う6枚の1mmワッシャー、2枚
の0.5mmワッシャーが付属して
います。しかしながらダブル用
のクランクで1枚のリングを装着
して使うと、理想と言えるほど
広いチェンラインは得られない
かもしれません。幅広いチェン
ラインはチェーンに早期の摩耗
を引き起こしたり、カセットコ
グの一番大きな歯にチェーンが
載った際にチェーンとガイドの
干渉(摩耗)を引き起こす恐れが
あります。市場にはこの干渉を
軽減出来るオフセットされた
チェンリングが幾つか用意され
ています。

1

ユーザーマニュアル
S3/E-MOUNT MODEL



クランクセットとチェーンを取り付けます(図F)。
アッパーガイドを元に戻し、ガイドボルトを入れ直し
ます。ガイドボルトは1.2-1.3Nmのトルクで締め込
んで下さい。バックプレートにはガイドの垂直位置を
決める手助けとしてレーザーエッチングが施されてい
ます。チェーンとアッパーガイドの天板の間にはおお
よそ3mmの感覚がなければいけません。

アッパーガイドボルトをはめ込まれたスライダー
ナットから緩め、ガイド中ほどまで引き抜いてか
ら、アッパーガイド自体を回転させ開きます。

全ての締め具が適切に締め込まれているか、そして取
り付け部品のどこにも不必要な摩擦や接触がないこと
を確認して下さい(図J)。フルサスペンションの自転車
に装着する際は、リアショックの空気や金属バネを取
り除き、完全にストロークさせて干渉具合を確認して
下さい。確認が終わったら安全な場所で機能性の確認
を行って下さい。

ガイドの角度が正しいかを確認して下さい。チェーン
はリアカセットの真ん中に載っている時にアッパーガ
イドの中央になければいけません。チェーンが最も大
きな、もしくは小さなカセットコグに載っている時、
チェーンとアッパーガイドの間には若干の接触、もし
くは接触がない状態でないといけません。必要があれ
ば付属のISCGスペーサーと1mmBBスペーサー(BBマ
ウントガイド用)を使って微調整してください。*
*調整に際してはここから逆の行程を踏んでいただき、再度ステッ
プ の最初からの行程を踏んでいただく必要があります。

4

5

6

7

より詳しい情報に関しては本国サイト(MRPBIKE.COM)をご覧下さい。また不明な点がありま
したら、本国サイトもしくはモトクロスインターナショナルまで問い合わせください。

2
フレームのフロントディレーラーマウントを確認して下さい。M5のネジ2本を使ってS3/E
マウント用ガイドをフレームに取り付けます。付属のM5ネジには16、20、25mmの3種類
の長さがあります。前側には16mm、後ろ側の取り付けには20mmのものをお使いくださ
い。ガイドの完璧な角度は試行錯誤の過程を経て得られますが、開始時は両ボルトのガイド
とフレームの間に1mmと0.5mmのスペーサーを1枚ずつ入れるのが良いでしょう。

M5X25 M5X20 M5X16

ワッシャーの厚みが2mm以上になる場合、前側に20mm、
後ろ側に25mmの長さのネジを使って下さい。締め付けトル
クは5-6Nmです。

Install the crankset and chain. Close the upper 
guide and reinstall the upper guide bolt. Tighten 
the upper guide bolt to 1.2-1.3 Nm. The backplate 
features laser etching to assist in the vertical 
positioning of the guide. There should be roughly 
3mm of space between the chain and the ceiling of 
the upper guide.

Unthread the upper guide bolt from the captive 
slider nut, pull it halfway through the upper guide, 
and swing the upper guide open.

Check that all fasteners have been appropriately 
tightened. For chainstay-mounted applications 
whereby the guide moves with the suspension, 
fully cycle the suspension to ensure there isn’t 
contact between the upper guide and chainring.
Check the functionality of the of the guide in a safe 
environment.

Check that the alignment of the guide is correct. The 
chain should be centered in the upper guide in the 
middle range of the cassette. There should be little 
or no contact between the chain and upper guide 
while in the smallest or largest cogs of the cassette. 
Refine this spacing using the included .5mm and 
1mm washers if necessary.* 

*This will require reversal of the installation steps 
thus far and restarting at step one.

4

5

6

7

FOR MORE INFORMATION PLEASE VISIT US ON THE WEB AT
MRPBIKE.COM

OR CALL US AT (970)241-3518, WE’LL BE GLAD TO ASSIST YOU!

2
Locate the front derailleur mount on your frame. The S3/E-Mount 1x guide uses two 
M5 screws to affix to your frame. Included in the hardware pack are M5 screws in three 
lengths: 16, 20, and 25mm. Use the 16mm screw in the front and 20mm screw in the 
rear mounting point. Getting your guide perfectly aligned is a trial and error process, but 
a great starting point is with one 1mm and .5mm washer installed on both M5 screws 
between the guide and the frame.

M5X25 M5X20 M5X16

If more than 2mm of total washer thickness is needed for 
spacing, move the 20mm screw to the front and install the 
25mm screw in the rear mounting point. Tighten screws to 
5-6Nm.




